
  UBND QUẬN LONG BIÊN

TRƯỜNG THCS PHÚC LỢI

BÀI TẬP TỰ LUYỆN Ở NHÀ TUẦN 33

(Từ ngày 23/3 đến 28/3)

MÔN: TIẾNG ANH 8 
NĂM 2019 – 2020

Exercise 1. Choose the word that has the underlined part pronounced differently from the others. 
1. A. vanilla 

B. vacuum 

C. add 

D. facsimile 

2. A. whiten 

B. fiber 

C. zipper 

D. conveyor 
3. A. remove 

B. wrote 

C. mold 

D. cocoa 
4. A. around 

B. various 

C. sound 

D. mountains 
5. A. heritage 
B. giant 

C. garden 

D. village 
Exercise 2. Choose the words that have the different stress pattern from the others. 
1. A. iconic 

B. monument 
C. territory 

D. difficulty 
2. A. Singapore 
B. Philippines 
C. Canada 

D. India 
3. A. payee 

B. Chinese 

C. coffee 

D. trainee 
4. A. jubilee 

B. guarantee 

C. Japanese 

D. referee 
5. A. refugee 

B. Taiwanese 
C. absentee 

D. committee 
Exercise 3. Choose the best answer A, B, C or D. 
1. If someone __________ into the store, smile and say, “May I help you?” 
A. comes 

B. came 

C. come 

D. should come 
2. “Here’s my phone number”. 
“Thanks. I’ll give you a call if I __________ some help tomorrow” 
A. will need 

B. need 

C. would need 
D. needed 
3. If I didn’t work for an accounting firm, I ________ in a bank now. 
A. work 

B. will work 

C. have worked 
D. would work 
4. The death rate would decrease if hygienic conditions _____ improved. 
A. was 

B. is 


C. were 

D. had been 
5. If she ________ him, she would be very happy. 
A. would meet 
B. will meet 

C. met 

D. should meet 
6. If I had enough money, I __________ abroad to improve my English. 
A. will go 

B. would go 

C. went 

D. should have go to 
7. The bench would collapse if they _______on it. 
A. stood 

B. stand 

C. standing 

D. stands 
8. If it ______ convenient, let’s go out for a drink tonight. 
A. be 


B. is 


C. was 

D. were 
Exercise 4. Complete the sentences, using the correct form of the words in brackets. 
1. __________________ Charlie Chaplin was born in London, England. (legend) 
2. In Canada, there are a lot of __________________ from various countries. (refuge) 
3. Lake Wanaka is a __________________ scenery in New Zealand. (spectacle) 
4. The Sydney Opera House is an __________________ monument of Australia. (icon) 
5. The __________________ originates in Ireland and its associated islands. (Ireland) 
6. The Canadians are native __________________of English. (speak) 
7. English is an __________________ language of France. (official) 
8. Thuy __________________ loves the koala in Australia. (absolute) 
9. The violation of that company was __________________ yesterday. (exposure) 
10. Do storm water and the atmosphere bring non- point source __________________? (pollution)
Exercise 5. Complete the sentences with the appropriate present tense of the verbs in brackets. 
1. Each of the 50 states (adopt) __________________ an official state flower so far. 
2. Since 1965, the maples tree with the leaves (become) __________________ the most well-known Canadian symbol. 
3. At present, the National Cherry Blossom Festival (occur) __________________ in Washington, D.C. to celebrate spring’s arrival. 
4. Maori (be) __________________ recognized as an official language of New Zealand since the Maori Language Act of 1987. 
6. Australia (have) __________________ a range of different landscapes, including urban areas, mountain ranges, desert and rain forests. 
7. Annually, the National Eisteddfod festival of Wales (take) __________________ place for eight days at the start of August. 
8. The Statue of Liberty (welcome) __________________ over 12 million immigrants entering the USA through New York Harbor since 1900. 
9. If you go to Paris, where you (stay) __________________? 
10. Unless you (tell) __________________ the truth, I won’t help you. 
11. You’ll get pneumonia if you (not change) __________________ your wet clothes. 
12. If they (hang) __________________ that picture lower, people would be able to see it. 
13. She (be) __________________able to walk faster if she didn’t have such high-heel shoes. 
Exercise 6. Read the passage, and choose the correct answer A, B, C or D for each question. 
Saving the Environment: One Home at a Time 
Pollution can be seen not only throughout the world, but also in our own homes. It comes from household chemicals, the amount of water people use and the waste people produce and throw away. What can be done to stop this pollution? Surprisingly, a person can help save the environment by doing simple things. 
First, we need to recycle, which allows products to be used over and over again. Recycling can also reduce the number of trees cut down to produce paper products. It takes very little effort. It is not hard to place plastic and glass bottles, aluminum cans and paper in a bin. Anyone can do it. 
Second, we need to watch the amount of water used at home. It can be conserved by taking short showers instead of baths, repairing leaky faucets, using the dishwasher or washing machine only when fully loaded, or simply turning the faucet off while brushing your teeth. 
Third, we need to reduce waste. We need to recycle whenever possible, but should also try to use this waste effectively. For example, grass clippings and food scraps can be made into compost for plants. The average person produces 4.3 pounds of waste every day, but we can reduce that amount by recycling and reusing. 
If we do our part in our own homes, we can help keep the planet from becoming more polluted. 
1. Pollution is caused from the following sources except . 
A. water in rivers 

B. water from households 

C. wastes 

D. house chemicals 
2. Recycling can help us . 
A. never cut down trees 

B. produce more paper products 
C. place garbage bins easily

D. use products again and again3 
3. In order to save water, we can do all of the following things except . 
A. fully use the washing machine 

B. repair leaky faucets 
C. take short showers instead of baths 

D. turn the faucet off while brushing your teeth 
4. Recycling helps to reduce waste because . 
A. plants need to develop 

B. waste can be recycled and reused 
C. a person can do it in his home 

D. an average man produces compost for plants 
5. The word “It” in paragraph 2 refers to . 
A. cutting down 

B. the number 

C. recycling 

D. effort 
Exercise 7. Read the text carefully, and the do the tasks that follow. 
Multicultural Britain 
1. Britain has always been a mixed society. In the distant past, Celts, Romans, Saxons, Vikings and Normans all settled in Britain. During the 150 years, people from Ireland, the former British colonies and the European Union have also come to Britain. 
2. In the 1840s, there was a terrible famine in Ireland. A million people died and a million more left Ireland, and never returned. Most went to the USA, but many came to Britain. 
3. In the 1950s and 1960s, the British government invited people from Britain's former colonies to live and work in Britain. The majority was from the West India and Hong Kong. 
4. People from countries in the European Union are free to travel, live, and work in any other EU country. Recently, a lot of people have arrived from Central and Eastern Europe. 
5. There are thousands of Indian and Chinese restaurants in the UK. Immigrants from the West Indies started the Notting Hill Carnival in 1965. It is now the biggest street festival in Europe. There are lots of Irish pubs in Britain and Irish folk music is popular. 
Task 1: Match the headings (A-E) with the paragraphs (1-5) of the text. 
_____ A. The European Union 
_____ B. Ireland 
_____ C. Introduction 
_____ D. The former colonies 
_____ E. How have immigrants influenced British life? 
Task 2: Match the highlighted words in the text with their meanings. 
____ 6. settled 

A. countries which another country controls 
____ 7. colonies 

B. most 
____ 8. famine 

C. came and lived 
____ 9. majority 

D. not long ago 
____ 10. recently 

E. a time when there is very little food 
____11. immigrants 

F. people who come and live in another country 
Task 3: Are the sentences true or false? 
12. Immigration into Britain started in the 19th century. ______ 
13. People left Ireland in the 1840s because there wasn't enough food to eat. ______ 
14. Many Irish people left Ireland and returned later. ______ 
15. The West Indies, India, and Pakistan are former British colonies. ______ 
16. In the 1950s and 1960s, the British government tried to stop immigration. ______ 
17. In the last few years, a lot of people have arrived from southern Europe. ______ 
Exercise 8. Rewrite the sentences using the given words in brackets. Do not change the words in any way. 
1. It’s a long time since we last met. (We haven’t ….) 
___________________________________________
2. Because of studying hard, Long passed the exam. (because) 
___________________________________________
3. I am a member of the anti-pollution program in my school. I often go to school by bus. (so) 
___________________________________________
4. When did you buy this dictionary? (How long …..?) 
___________________________________________
5. Because there was an accident, I was late. (made) 
___________________________________________
6. This is the first time I had such a delicious meal. (I haven’t……) 
___________________________________________
7. She failed the University entrance exam because her grades were bad. (due to) 
___________________________________________
8. Phong is lazy, so he gets a lot of bad marks. (leads to) 
___________________________________________
9. Many fish are dead due to the polluted water. (results in) 
___________________________________________
10. The water is polluted, so the fish are dead. (causes) 
_____________________________________________

